
���������� 	� 
��
��� ��� �
� ����� � ����������� ��������  ��!"��� ������#� �� $��%!& ' ( &�)$��!* %�����+ ����� ,

i = 1, .., 4-  ���.�����/ ��0� 1 %�� $ ��%!& �� ���"���� �� 2��
p0

' � ��%!& ��)�� ��&)� � ��&�����3  ���.�����/#
p−
i

$��/ *��!)�������&�*��!. !4! �  ���.�����/#
p+
i

*� �5����� ' 6
7898:8 ;<= >?> @ABCD EFG FH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ �$!� ��* $ ��%!& �� ���"�����1� ��! ��*� $��� *� �5 ����� ��&�*�2�!. ' � ��� J

p0 = 0.2
'
p+1 = 0.1

1
p+2 = 0.3

1
p+3 = 0.2

1
p+4 = 0.5

'

7898:8 ;<= >K > @ LMDMBNOP G F@ FH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ �$!� ��* $ ��%!& �� ���"�����1� ��! ��*� $ ��� *��!)����� ��&�*�2�!. ' � ��� J
p0 = 0.3

'
p+1 = 0.2

1
p+2 = 0.1

1
p+3 = 0.2

1
p+4 = 0.2

'
7898:8 ;<= >Q > R MSOTUSCDVP WFWFH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ ��! ��*� $��%!& �� ���"�����1� �$!� ��* $ ��� *��!)����� ��&�*�2�!. ' � ��� J

p0 = 0.2
'
p+1 = 0.3

1
p+2 = 0.1

1
p+3 = 0.4

1
p+4 = 0.1

'

7898:8 ;<= >X > R VAYV ZFZFH�3�!  ���.�����/ ,I - 1 %��  %���2��+ �����+ $ � ��*� $ ��%!& �� ���2"�����1 �$!� ��*� $��� *��!)����� !�$!� ��* *� �5 ����� ��&�*��!. ' � �2�� J
p0 = 0.3

'
p+1 = 0.2

1
p+2 = 0.1

1
p+3 = 0.2

1
p+4 = 0.5

'
7898:8 ;<= >[ > \ O]U^T OP _ FWFH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ $ � ��*� $ ��%!& �� ���"�����1� $ � ��*� $ ��� *��!)����� ��&�*�2�!. ' � ��� J

p0 = 0.2
'
p+1 = 0.2

1
p+2 = 0.3

1
p+3 = 0.2

1
p+4 = 0.4

'

7898:8 ;<= >= > ` PBUC]DOOP \ F` FH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ $ � ��*� $ ��%!& $��� *��!)��2��� ! $ � ��* *� �5 ����� ��&�*��!. '� ��� J
p0 = 0.3

'
p+1 = 0.2

1
p+2 = 0.3

1
p+3 = 0.2

1
p+4 = 0.4

'
7898:8 ;<= >a> b McVT VPBYM^ d FH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ $ � ��*� $ ��%!& �� ���"�����1� $ � ��*� $ ��� *� �5 ����� ��&�*�2�!. ' � ��� J

p0 = 0.2
'
p+1 = 0.2

1
p+2 = 0.1

1
p+3 = 0.2

1
p+4 = 0.4

'

7898:8 ;<= >e > fCg ChOP G Fd FH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ ��! ��*� $��%!& �� ���"�����1� �$!� ��* $��� *� �5 ����� ��&�*�2�!. ' � ��� J
p0 = 0.1

'
p+1 = 0.3

1
p+2 = 0.3

1
p+3 = 0.1

1
p+4 = 0.4

'
7898:8 ;<= >i > d CUMOP jFjFH�3�!  ���.�����/ ,I -1 %��  %���2��+ �����+ �$!� ��* $ ��%!& $��� *�2�!)����� 1 � ��! ��*� *� �5 ����� ��2&�*��!. ' � ��� J

p0 = 0.3
'
p+1 = 0.1

1
p+2 = 0.3

1
p+3 = 0.2

1
p+4 = 0.3

'

7898:8 ;<= >?k > d VPMl mP WFG FH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ �$!� ��* $ ��%!& �� ���"�����1� ��! ��*� $ ��� *� �5 ����� ��&�*�2�!. ' � ��� J
p0 = 0.2

'
p+1 = 0.1

1
p+2 = 0.3

1
p+3 = 0.4

1
p+4 = 0.2

'
7898:8 ;<= >??> n MPl VP \ Fo FH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ �$!� ��* $ ��%!& �� ���"�����1� ��! ��*� $ ��� *��!)����� ��&�*�2�!. ' � ��� J

p0 = 0.1
'
p+1 = 0.1

1
p+2 = 0.3

1
p+3 = 0.2

1
p+4 = 0.2

'

7898:8 ;<= >?K > jMApql MOP rFWFH �3�!  ���.�����/ ,I - 1 %��  %�����+�����+ ��! ��*� $��%!& �� ���"�����1� �$!� ��* $ ��� *��!)����� ��&�*�2�!. ' � ��� J
p0 = 0.2

'
p+1 = 0.3

1
p+2 = 0.2

1
p+3 = 0.2

1
p+4 = 0.4

'
stuvwxuyz { |} |~ ������� � |� | �u���� �u���wv��wu� � |�� � |�����



7898:8 ;<= >?Q > jOg ODVPM rF\ FH�3�!  ���.�����/ ,I -1 %��  %���2��+ �����+ $ � ��*� $ ��%!& �� ���2"�����1 �$!� ��*� $��� *��!)����� !�$!� ��* *� �5 ����� ��&�*��!. ' � �2�� J
p0 = 0.2

'
p+1 = 0.2

1
p+2 = 0.1

1
p+3 = 0.1

1
p+4 = 0.2

'

7898:8 ;<= >?X > ET V�ClV @ FnH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ $ � ��*� $��%!& �� ���"�����1� $ � ��*� $ ��� *��!)����� ��&�*�2�!. ' � ��� J
p0 = 0.3

'
p+1 = 0.1

1
p+2 = 0.2

1
p+3 = 0.1

1
p+4 = 0.3

'
7898:8 ;<= >?[ > � Cgg OTg MD @ FZH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ $ � ��*� $ ��%!& $��� *��!)��2��� ! $ � ��* *� �5 ����� ��&�*��!. '� ��� J

p0 = 0.1
'
p+1 = 0.3

1
p+2 = 0.2

1
p+3 = 0.2

1
p+4 = 0.3

'

7898:8 ;<= >?= > � �YVP G FR FH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ $ � ��*� $��%!& �� ���"�����1� $ � ��*� $ ��� *� �5 ����� ��&�*�2�!. ' � ��� J
p0 = 0.2

'
p+1 = 0.1

1
p+2 = 0.2

1
p+3 = 0.3

1
p+4 = 0.3

'
7898:8 ;<= >?a> �� q ��CDN� qDH�3�!  ���.�����/ ,I - 1 %��  %�����+�����+ ��! ��*� $��%!& �� ���"�����1� �$!� ��* $ ��� *� �5 ����� ��&�*�2�!. ' � ��� J

p0 = 0.1
'
p+1 = 0.1

1
p+2 = 0.2

1
p+3 = 0.3

1
p+4 = 0.5

'


